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usl_coil6:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

2036.6

2036.8

2037

2037.2

2037.4

2037.6

2037.8

2038

2038.2

2038.4

2038.6

2038.8

us
l_

co
il7

usl_coil7:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

5964

5964.5

5965

5965.5

5966

5966.5

5967

5967.5

5968

ru
n

run:cyclenum {run == 5966}



5300 5300.5 5301 5301.5 5302
cyclenum

20265.5−

20265−

20264.5−

20264−

20263.5−us
r_

co
il1

usr_coil1:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

2839.8−

2839.6−

2839.4−

2839.2−

2839−

2838.8−

2838.6−

2838.4−

2838.2−

2838−

2837.8−

2837.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

4108.5

4109

4109.5

4110

4110.5

us
r_

co
il4

usr_coil4:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

844.5−

844−

843.5−

843−

842.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

36521.5

36522

36522.5

36523

36523.5

us
r_

co
il7

usr_coil7:cyclenum {run == 5966}

5300 5300.5 5301 5301.5 5302
cyclenum

5964

5964.5

5965

5965.5

5966

5966.5

5967

5967.5

5968

ru
n

run:cyclenum {run == 5966}



5300 5300.5 5301 5301.5 5302
cyclenum

284.5−

284−

283.5−

283−

282.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5966}
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